5.1

f/(x,)>0 f’(x,)<0 X, f(x)
2 Darboux f(x) (a/b) X, X, € (a, b) f'(x)- f'(x,)<0
Xp X é f '(E.-) =0
3 Lagrange
4. f(x) [a,b] (a,b)
x f(x) 1
y(x)=|a f(a) 1
b f(b) 1
Lagrange v (X)
5 f(x) a(x) [anb] (a, b) : (a, b) g
‘ f(a) f(b)‘ _ (b_a)‘ f@ 1
g(@) g() g(d) 9'¢)
6 f(x) [a,b] (a, b) (a, b) n
, f(b)-f(a)
=
7 lim nz(arctan a_ arctan i) a=0
n—o n n+1
8 Lagrange

[sinx —siny |<|x—=Vy];
ny" ' (x=y)<x"—y" <nx"*(x-y) (n>1 x>y>0);

b-a b b2 . as0):
b a

a
e*>1+x (x>0).
9 f(x) [a, b] X, X,
[T 0x) = F (%) < (X = %,)*
f(x) [ab]
10
arcsin X + arccos x = g x €[0,1]

11
3arccos x —arccos(3x —4x3)=n  Xe {—E,E}
2arctan x + arcsin X2:7z X €[1,+x).

1+Xx
1 f(x) [ab] (a, b) (a,b)
f'(x)=0 f'(x)>0 f(x) [a,b]
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2 1
Zx<sinx<x, XE(O,E); 3-=<2Jx, x>1:
T 2 X

2
x—X—<In(1+x)<x, X >0; tanx+25inx>3x,XG(0,%j;
2

1wl xeDA(p2

tan x X ( ﬂj
—>— Xe|0,—].
X sin X 2

0.1)

1 (1+x)In*(1+x) < x?

1, 11
X

X"+ X" x2 e x=1
0, X, limx,

n—oo

f(x) [04] 01) f(0)=f(1)=0 f(%}zl

ée(%,lj f(&)=¢

A n<€(0,)
f'(m) - AL (n) —nl =1
e [ (x)-x]

f(x) g(x) [ab] (a, b) g'(x) = 0 (x e (ab))
o(x)=f(x)-f(a)- a(b)— g(a) [9(x)—g(a)]
g(x) f(x) 1
v(x)=|g(@) f(a) 1|,
g(b) f(b) 1
Cauchy o(x)  w(x)
f(x) [ab] (a,b) & e(ab)
2¢[f(b) - f(a)]=(b* —a®) f'(&)
a,b>0 & e(a,b)
ae” —be® = (1-<&)e‘(a—h)
f(x) [ab] ab>0  (ab) £ e(ab)
1| a b ,
b_alf(a) f(b)‘_éf (&) - ()
f(xX) [1,+00) (1,+00) e f'(X)  (@+oo)

e " f(x) (@+o)
f'(x) (0,a] lim /x f'(x) f(x) (0,a]

x—0+
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27

f(x,)

RO

f(x1)_
f(x) x=0
Cauchy
X”+y”>[x+y
2\ 2
Jensen
/1|>0 i=1,2,"',n
f(x) (a +)
f(x) [ab]

n

f(0)=f'(0)=--=f"(0)=0

F(x) _ f® (6x) (0<0<1).

X" nl
" ex+ey Xy
j,X,y>O,n>1; > >e 2, X#VY.
60 [0  <[ab]
YA =1
i=1
f(Z%XijSZ%f(xi)
i=1 i=1
a,b,c
a+b+c
(abc) 3 <a’b°ct
lim f'(x)=0 Iim%:o
(a.b) ne(ab)
a+b b—a)? .
fO)+ f@)-2f( )= 27| ()

{a+b
2

L'Hospital

. ex—eX
lim— .
x>0 Sin X

In(sin
lim ANGINX).
o (= 2%)?

In(tan7x) .
-0+ In(tan 2x)

;

f'(x)

m =
X—a+ g’(x)

g(x) = f(x)— f(x—b_Ta)

5.2

. sin3x
lim :
x>z tan 5X

.o Xm—agm
lim .

x—a X" —an ’

. tan3x
lim :
H% tan x



X

. In@+1%
x>+ gre cot X

limxcot2x;

x—0

Iim(;z—x)tang;

X—>7r

tan x
. (1
lim| — :
x—=>0+{ X

sin x

. 1
lim| In= ;
x—0+ X

L'Hospital

. X2sini
lim———=:
x>0 Sin X

im (x2+1)sinx
x>t In(1+sin 3 x) "’

9(0)=0

=0
f(x) f(0)=0

f(x) =

9(x)
X

0,

9'(0)=0 g"(0)=10

£(0)

x—0

In(1+ x?)

SecX —CoSX '

. ( 1 1}
lim| — —=|;
x—=0\ SIN X X

lim

x—0

lim

x—0

lim

xtan x—sin® x

X4

El
x2ex

2 X
—arctanx | ;
X—>+o\ I

lim x1-x
x—1
X +sin x

im——-;
x—>+0 X — SiN X
lim sin 3 X + e
x—1 X

X =0,

x=0

f(0)
x>0,
x<0,
limx'®@ =1

x—0+
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1

2

4

f(x) (a+0) lim[f(x) + ()] = k lim £ (x) = k

5.3
Lagrange

In@+x) =

X 0<0(x)<1
1+6(x)x

limo(x) =1/2

F(x+h)= f(x)+ f'(x)h+% £ (x)h? +---+%f<”>(x+6h)

O (x) 20 limo =+
h>0  n+l
f(x)=¥x x=1 1728 2744  f(x)

p,(2) /2 =12599210.--

o) =2 x=-1 0 1 f(x)

{3

f(x)

f(x) 65 58 44 36

(0<06<1)

P2 (X)

P2 (X)

f(28)
h a b c af (x + h) +bf (x) + cf (x — h)
£(x)
" Pa (x)
Pa(x) = f(x) _ -
{pr,](xi):f,(xi) I=O'1’2’“'7T

Hermite



P = S-[F 063 00 + £(%)a ()],

{90 (x), 9P ()12,

ql(<0)(xi)25ik’ [qIEO)(Xi)]IZOI i, k:O,l, 2’.“’an1
Q|£1)(Xi)20' [qlgl)(xi)],zsik’ I, k=01 21""an1
Lagrange {a®(x), g2 (O},
5.4
x=0 Taylor n
f(X)—L n=4; f(x)=cos(x+a),n=4;
T3i-x B ! !
f(x)=+/2+sinx, n=3; f(x)=e"*, n=4;
f(x)=tanx, n=5; f(x)=In(cosx),n=6;
X sin X
|
f=le—1 **% n-a f=M T *F0 s
1 x=0 0, x=0

f(x)=+v1-2x+x3 —¥1-3x+x2,n=3.

Taylor
f(x)=-2x3+3x2 -2, X, =1; f(x)=Inx, x,=e;
. T
f(x)=Inx;x, =1 f(x)=sinx, ong;
f(x)=x,%, =2.
3 5 2n-1
In2:In1+—X ~ 2 X+X—+X_+...+ X

1-x|,.1 3 5 2n-1)

? E

X2 x¥ x4 X"

In2 =In(1+ x Mx—— g2 2 (-
@+, L Sttt ED n]




3 5

7 x* X
Z —arctanl A X ——+-—— -
4 3 5

% =4arc tanl —arc tani

239

3 2n+1
z4[x—%+---+(—1)” X }

2n+1
5
Taylor 107
lgl1; 3e
c0s89°; 8/250
Taylor

lim

x—0

exsinx — X(1+x)
x3 ’

! [1 j

lim| =—cscx |;

x—=>0{ X

Iim{x—x2 In[1+ 1}}
X—>00| X

lim xg(\/x+1+\/x—1—2\/§);

X—>+00

Taylor
2 2 3
1 x—X—gln(1+x)£x—X—+X—
2 2 3
2 (l+x)"’<1+ocx+0{(05_1)x2
X2
YT 1ex
y =6x* —8x+3;
_eX4er
==

x>0

+(-1)"

—{ X
1
X==

X3 X2n+1
—f e (-D"
3 (-1) }

T
X2n+l
2n +1}

Machin

x=1

2n+1

1
X=—"
239

sin31°;
(11):2.
lim & 12 2 (a>0);
Xx—0+ X

lim ()/%5 + x4 —{/x5 —x4);

X—>+00

. 1(1 1 j
lim— ————|;
x>0 X\ X tanx

1
Iime3 —x? +§jex— x® —1}.

l<a<2,x>0

—_— 2X .
Y =1 %
1
y=(2+Xx)ex;
1+x
y=In——;

1-x
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Yy = X+arccotx;

l—x2_
1+x2’

y = arccos

1
1) y= Xz[Xe3X -3x® +x2j;

Tc -
0<X <o Xy =SiNX

n

() limx, =0

n—oo

v,>0 vy,,=In(1+y,)

(i) limy, =0

lim—
nN—o0 1

XZ

n

f(x) [01]

. RIOIEIRIO]S!

f(x) [01]

| f() <1

[01]
f(x)

| F'(x) <3
[01]

) n
lim—

n—oo 1

y =3/(x=2)(x+1)?;

y=X [COS——e 2¢* ]

(12) y= x(xezX NG J

n=12,

(i) X2 ~§ (N )

n=1,2,"'

2
@y, ~+ (n — o)

Stolz

Y

| £7(x) <1

f(x) (0,0)

[0.1]

| (%) |< 2

f(0)=f®)=0 minf(x)=-

max f"(x) >8

0<x<1

f(a)=f(b)=0

f(x) [ab]

max | f(x) |< = (b -a)2 max | £7(x)]|
asxs<b 8 a<x<b

y = 2x3 —3x2 —12X +1;

y=x/§lnx;

5.5

y=X+S8inx;

y=Xx"e>* neN”*



[(x+1)? 1-x
Y A _ :
y x—2 ' Y =1 xe

y:3x+§; y=x-In(1+x);

y = €0s® X +sin® X; y =arctanx — X

y=2e+e*; yzz_m;
1+3x 1

Y= Jaree y=xx.

y =—Xx3+3x?; y=X+Sinx;

y=1+x2; y =Xxe;

y:3/(x+1)2; y = 1—x2;

X—2 1+x
y=x-In(1+x); y =arctanx — X
y=(x+1)*+ex; y = In(1+ x?);

y =e™, y=X+/x-1.
f(x) X f(x) X

f'(x,)=0 f'(x,)<0 f"(x,)=0

f(x)=(x—-a)"o(x),o(x) x=a o(a)=0 f(x) x=a
f(x) x=a n f'(a)=f"(@)=---=1fY(a)=0
fm@)=0 f(x) x=a
h>0
_Le—hzx2
N

X=12c o>0

x? +1
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17

X2

:1+x;

y

y =v6x* —8x+3;

ex+e*
2

y

y = X+arccotx;

2

y =arccos

1+x2°

a,b

a>In2-1

k>0

la+b| _ |a

8
— 2X .
Y= 1ixe
1
y=(2+x)ex;
_|n1+_x_
y=n1-x

y =3/(x-2)(x+1)?;

{&/n}.

bl

1+|a+b| 1+]|a|

x>0

x? —2ax+1<e*

1+|b|

arctanx—kx=0

n {ak}Ezl

s=ki1(ak —¢)

g

— +—=1
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b
19 M A B
5.5.6 M A a
b
M
x¥+3x-5=0 X" €[12]
X = e x*eF,an}
2
) . {ﬁ 3%}
X?2=Cc0SX X €|—,—
2 4
4 .
7x2—3x+;:0 X" €[2,25].
Newton
X3-Xx+4=0;
xlgx =1;
i—sinX'
2_ i)
5.6.2 Newton
1
3/2 il
39
=02 Kepler
y—-x—¢gsiny=0
k
x=—(k=12,---8) y
8
tan x = x

10—12

A
1.2
B M
. 2 )
5.5.6
6
10
1
X2 +—=10x;
X2
X+ex=0;
cosx-chx=1.
1
An A>0 n
1 1
7 11
0<e<]

1.8

>~
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10—12

1 x
cotx=———
2
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